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Rewrite in Exponential form
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Write as a single logarithm. (Contract) X__—_TW
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Evaluate (Contract and solve)
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33.{$12000 ls invested ag10% Jnterest and compounded monthly. Detérmine how much the
investment is worth afte( 3 years:
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34. $5000 is invested at 8.5% interest and compounded semiannually. How many years would it

take for the investment to be worth $7000?
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35. If $12000 is invested at an interest rate of 10% per year, find the amounb'of the investment at

the end of 3 years when compo inuously.
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36. The stray cat population in @ smali town grows exponentially. In 2012 the town had 30 stray cats and the

relative growth rate was 15% per year. 1
a) Find the projected po ulatlon fter 4 years. Wtf /JW‘C & /O—MM
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b) Find the number of years re%uwed for the stray cat po3ufat|on to reach 500.
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38. Graph the equation. Describe the transformation. State the Domain, Range and Asymptote
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